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Salvage Value and Other Cash Flows
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The technique just demonstrated works if a project’s cash flows are
identical every year. But what if they are not? For example, what if a
project will have some salvage value at the end of its life in addition to
the annual cash inflows? Under these circumstances, a trial-and-error
process may be used to find the rate of return that will equate the cash
inflows with the cash outflows. The trial-and-error process can be carried
out by hand; however, computer software programs such as spreadsheets
can perform the necessary computations in seconds. Erratic or uneven
cash flows should not prevent an analyst from determining a project’s
internal rate of return.
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Using the Internal Rate of Return
S ol S ome ol

To evaluate a project, the internal rate of return is compared to the
company’s minimum required rate of return, which is usually the
company’s cost of capital. If the internal rate of return is equal to or
greater than the required rate of return, then the project is
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considered to be acceptable. If the internal rate of return is less than the
required rate of return, then the project is rejected.
In the case of the Glendale School District example, let us assume that

the district has set a minimum required rate of return of 15% on all
projects. Because the large mower’s internal rate of return is only 12%,
the project does not clear the 15% hurdle and should be rejected.
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The Cost of Capital as a Screening Tool
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As we have seen in preceding examples, the cost of capital is often used
to screen out undesirable investment projects. This screening is
accomplished in different ways, depending on whether the company is
using the internal rate of return method or the net present value method.
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The cost of capital as a
screening tool

The net present
value method

The internal rate of
return method

The cost of capital is used as The cost of capital is compared
the discount rate when to the internal rate of return
computing the net present value promised by a project. Any

of a project. Any project with a project whose internal rate of
negative net present value is return is less than the cost of
rejected unless other factors capital is rejected unless other
dictate its acceptance. factors dictate its acceptance.

Internal Rate of Return Method
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When using the internal rate of return_method to rank competing
investment projects, the preference rule is: The higher the internal rate of
return, the more desirable the project.

An investment project with an internal rate of return of 18% is usually
considered preferable to another project that promises a return of only
15%. Internal rate of return is widely used to rank projects.
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Net Present Value Method
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The net present value of one project cannot be directly compared to the

net present value of another project unless the initial investments are

equal. For example, assume that a company is considering two

competing investments, as shown below:
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Investment

A B
Investment required ... ... ... ... $(10,000) $%(5,000)
Present value of cash inflows . . . .. _. 11,000 6,000
Metpresentvalue . ............... % 1,000 51,000

Although each project has a net present value of $1,000, the projects are
not equally desirable if the funds available for investment are limited.
The project requiring an investment of only $5,000 is much more
desirable than the project requiring an investment of $10,000. This fact
can be highlighted by dividing the net present value of the project by the
investment required. The result, shown below in equation form, is called
the project profitability index.
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Net present value of the project

Project profitability index
] [nvestment required
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The project profitability indexes for the two investments above would be
computed as follows:
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Investment

A B
Metpresentwvalue (a) ... ... . ... ... . $1,000 51,000
Investmentrequired (b) .. .. ... ... .. 510,000 355,000
Project profitability index, () ~ (b). ... ... 0.10 0.20

When using the project profitability index to rank competing investments
projects, the preference rule is: The higher the project profi tability index,
the more desirable the project. Applying this rule to the two investments
above, investment B should be chosen over investment A.

The project profitability index is an application of the techniques for
utilizing constrained resources discussed in Chapter 13. In this case, the
constrained resource is the limited funds available for investment, and
the project profitability index is'similar to ‘the contribution margin per
unit of the constrained resource.
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